CHAPTER 3 ANSWERS

Q Exercises, pp. 132-133
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0 Exercises, pp. 132133 (continued)
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@ Exercises, pp. 132—-133 (continued)

. = 28. <

9 > 30. =

3. > 32. >

3% < 34, <

38, 294 368 61

37. 45 38. 380

39. 32 40. -29

41. 282 42. -2,000,000; 5,000,000

43. a. Baseball
b. Decreased by about 9%
¢. Increased by about 27%

44. a. 30° south
b. They are the same.

43. Second quarter
46. - 12°F < —3°F, 50 it was getting colder outside.

47. Possible answer: Think about their placement on a number
line. The integer to the right is the greater integer.

48. 11 or —-11 49. 64

50. 81 51. 1

52. 216 53. 64

54. 125 55. 256
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@ Exercises, pp. 136-137 @ Exercises, pp. 136—137 (continued)

1.4 v 7. 28, Y
3.0 a1 ’

'N:

19. Triangle; Quadrants | and I}
30. Rectangle; Quadrants il and 1t

R

9. (6,-3) 10. (-3,2) 31 1l 32. 1
1. (~-4,0) 12. (5,0 g 331 34 IV
13. 1 14. 111 38, a (-68°, 26%)
15, IV 16. 11 b. (-80° 26°)

¢ (-91° 329
17-20.

36. The student should have moved 12 units left from the
origin and then 1 unit up.

37. If order is disregarded, a pair of coordinates could refer to
either of two points in the same plane.

RCENNN f 38. 5 mi 39. 15

s T T
40. 69 41. 87
1. (-4, 9) 12. (5, -6)
42. 159 43. C
23. (-5, ~4) 24. (0, -4)
4. G
5. (5,6) 26. (2,2)
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@ Exercises, pp. 142-143 @ Exercises, pp. 142-143 (continued)
1.12 2 -6 a1 -29 o >
3. -2 a3 s - " >
5. 15 6 13 48, < 48 >
7. -15 s 11 . = 4. -6
9. 12 10. 0 9. 7 e 19
11. -20 12. -5 yards 1. 3 52, -2
13. -9 14. -6 53, —9
. 1 . .
15. 13 16. 1 54, Cody's balance is reduced by $24.
( 17. L~ :
1.7 18. ~18 f 58. 4,150 ft
19. — e — . . . .
9. -1 20. —89 88. Hector; Hector has 3 points, while Luis has ~2 points, so
21 -19 22. 39 Hector wins by 5 points.
23. -16 24 -15 57. 34
28. -88 28. 25 58. What was the temperature at 9 am.?
27. -55 18. -80 59. Possible answer: First add integers with like signs. The sign
29. - 14 30. -29 of the sum is the sign of the integers. Then add unlike
: integers by finding the difference of their absolute values.
31 -13 32. 14°F : Use the sign of the integer with the greater absolute value.
33. -13 34. 4 60. Loss of $535 million 61. 839 x 10°
35. -15 36. 7 62. 2.1 x 108 63. 4.023 x 10°
37. 27 38. 26 64. C 68. F

39. -18 40. 14
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@ Exercises, pp. 148-149 @ Exercises, pp. 148-149 (continued)
1. ,___:17.4 -3 2 3 =8, -~ a1 18 28. 46
| —— 21686 420
R T e 29. 16 30. 13
3. 2 ed 6 .z -6 31 -5 32. -1
B e s g e o R
0 M A 8 33. 20 34. 11
-0 -6 -2 2 & 35. 83°F 38. -6
5. -4 6.5 37. -14 38, -5
7. —-10 8 10 39. -2 40. —13
9. 7 10. —-14 41. 2 41 0
1. -14 12. 47°F ,‘ 4. 16 4.0
1. 12 -5 14 (-8 4 7
ansiprrirefpsforminlpodromrrpdpurfsats. e oo
~6~4-2 0 2 4 6 8 -8-6-4-1 012 4 6 47. 16 48. 13
18. 2. (-8 8 16 7 e 15 49. 27 50. 27
it avvdpdufrioipdlppfpdoduiodoolpmome
-2 0 2 4 6 810 ~202468I10121416 51. -17 52. 17
17. 9 (e 12 18. —10 -4 ~-14 53. 1,266°F 34, 1,234°F
B e e e e e e s e o i
0 2 4 6 8 1012 ~16=12 -8 ~4 0 55. 531°F 58. 265°F
19. [ ~(~8 16 20. =3 4] 57. 16,500 ft
bbb -3
~20 246 81012141618 W 58. 65,233 ft; 96,000 ft; 95,000 ft (Mars); 30,767 ft
21, -17 22. -25 5.8 60. 5
3. 8 26, —3 61. 22 62. 96
5. 50 26. -30 63. 0 64. 35
65. B 66. J
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@ Exercises, pp. 152-153 ) Exercises, pp. 152—-153 (continued)
1. -15 2. -10 a1 -26. mn. -42
3 -15 A3 43 10 4a. 885 ft
s 10 6 15 ﬁ 48, -60ft-
7. -8 8. -6 46, a. less; 372
o 4 10. -7 © More 312
.3 12. -2 . 47. The average change was $55 per day.
13. ~10 14 -8 48. If the integers have oppoasite signs, the quotient will be
15. 24 16 48 negative.
17 32 18 -8 o 49. Multiply or divide as with whole numbers. If both integers
18 7 20. -4 : f&a\m the same sign, tt}e product or quotient is .posigive. if
integers have unlike signs, the product or quotient is
21 -8 22. -6°F : negative:
23. -40 4. 27 : 50, < 81 2+ 2y
2% -3 26. 12 » 52 27 + 8x 53. 802
27. 50 28. 40 54,y - 22 58. 2/ + 6
29. ~120 30, -3 f 56. 90 57. D
31. 90 32. 9 | 58 H
33. 16 38, -125 :
33 -1 38. 47
37. 24 38. 57
39. 5 40. 30
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@ Exercises, pp. 158-159

Lw=4

28, n = 324
30. r = 1,904
1.m=0
Mc=2
36. y=12
38. k= 50

Copyright & by Mok, Finshast a8 Winsion:
i ity

x=-12
&£ n=-8
6 o= 60

9. k= -3
1y= -4
13. a=20
%=1
17. n = 150
19. /= -144
2.y = 100
2%, j= —-63
8¢ =17
1. y= ~11
29. w= —41
3. x = —58
3¥.x=4
5.t=9
37. h=20
39. 60°
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40. 3 miles

42. 273K

44. Lakes
45. C

y Exercises, pp. 158—159 (continued)

a1. a. 5280
b. $240
¢ 315

43. Oceans or beaches

46. Use addition to solve equations with subtraction,
subtraction with addition, multiplication with division, and
division with multiplication. Follow all rules for computing

with integers.

47. Possible answer: 53 + p'= 31

48 ~15,-9,-1,6,12
50. -6,-3,-2,1,2
52. -21,-15,+-8,6,9
54. A

i

£ by gk Rinabut a0 Winston,
pidy

49. ~10,-8,-3,0,7
5. -3,-1,0,2,4
53. -9,-2,-1,7,10
55. G
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